KO5 C

. ckO4 = dkO
£ 500- o 500 €200,
E 400+ 2 400 8 1504
g = <E 5 &
< E 300+ < S 300 ns Z= S
Z= Z= s & 2 100 4
Dég 200 . 45 = %E 200 DS ps o EE
S 100o%e-pee 25 Z 100 % g8g- - S 50
5 olr—7—71 R 0 s 04—
S v N O = s N O = NI
O O O o O O o o
333 3383 _
I I T I I T Hdac7
Hdac4 cKO (cKO4)
. Hdac4
. 2 150
Wildtype Allele F R R ©
D - D - D - 480bp g -
<& 100~
Knock-in Allele & & & 620bp DE: % 50 .
loxP loxP 8 v
x POCre E 0 L4
Knock-out Allele _ & & 250bp = -g g
d g B 8 °
Hdacb
Hdac5 KO (KO5) < 150
© KD WT KO5
Wildtype Allele F R g 100 - @
- - 250 bp <0 e
[ 50
Knock-out Allele F R = | GAPDH
500 bp ° - -
| e ;| - < 0 34 4
< £ 8
s Q
Hdac7
Hdac7 cKO (cKO7) £ 150
. £ .
Wildtype Allel =
ildtype Allele L& 400 bp <_g 100= _,
11203045060 7180 2o %ZO =
Knock-in Allele F R o £50bp E g 50 %a
& 5
leOCre "E g
Knock-out Allele 8 ©°

eee




